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15 Minutes of éxira time has been allotted for the candidates to read the questions carefully.
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This question paper is divided into two sections — Section - A and Section - 8. -
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In Section - A, there are 50 objective type questions which are compulsory, each carrying 1 mark. Darken
the circle with b.'u@fbfa;:k ball pen against the correct option on OMR Answer Sheet provided to you.
Do not use Whitener/Liquld/Blade/Nail etc. on OMR Sheet; otherwise the result will be invalld.

aqve — 7 4 25 oy OV 7T &1 (2w @ T 2 o P 8) R @ el 15 wet a1
oY 3 A 21§ dffer I @S 4 8 2 aedlg g7 39 13 & (7w @ fov 5 9w
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In Section - B, there are 25 short answer type questions (each carrying 2 marks), out of which any 15
questions are to be answered. Apart from this, there are 8 Long Answer Type queslions (Each Carrying §

marks).Oul of which any 4 questions fo be answered.
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.Use of any electronic appliances is strictly prohibited.
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Wug -3/ SECTION- A

TS WY /Objective Type Questions
¥ W 1 W 50 7% @ e §eT @ 6 g Reey Ry v & A o ve wd &) I & g7

TV WEl Reey & OMR - ¥ie v ffea #v) - (50x1=50)
Question No. 1 to 50 have four options, out of which only ane is correct. You have to mark, your selected
option, on the OMR - Sheet. : . (50x1=50)

L A o fgem wievr @ 87

Which of the following is not 2 quadratic equation?

v_l\{ (x+2P=x(x% 1) B)  (x+1)P=2x-3)
O B-DED)S O eiisy
2. W 3w x+2y+5=6?MT 3x-6y+1=0%F & € -
@) sRdwe W wwmE
e R & T D) R R A
Pair of equations x + 2y + 5=0and -3x - 6y + | = 0 have-
(A)  Unique solution (B) Infinite solution
(C) No solution . | (D) None o_f lhese!'

3. fEomd ague x?-2 @ UG € -

Zeros of the quadratic polynomial x*- 2 are -

A) 2,2 - £B} i3
O a2 | D -2,-2
4/ FHRR A : 2, 6, 10, 14,.......... TT B AT TS 82 *é?
&) 15 ® o0
© ord | D) 22
Which term of the AP : 2,6, 10, 14, .......... is 822,
W B 2
© a2 @ 2
(110] C | Page 2 of 16 i
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5. _P(4.2) AR Q8. 6) @ fiar aieh Yaravs & 7 fig & Frama € -
The coordinates of the midpoint of thie Jine segment joining the points P(-4, 2) and Q(8. 6) are -

A G ® (L3

(Y @4 ® 42

6o/W'B*meﬁlwﬁﬂm14-%.%.ﬁﬁqﬁafﬁmwﬁtﬁmmmﬁﬁf
M & JTad aT B - '
A 350w ®)  14379W |
(€)  2874FH @ T T

From a solid cube of edge 14 cm, a sphere of largest volume is cut. Appfoximate volume of sphere

is - \

@A) 359cm’ | O ® 43T’
g - 874em’ (D) ~ None of these
7 p{x):x3q3x-4.ﬁp(x)mqawg_

If p(x)=x3—3x -4 , then one of the zeros of p(x)\is - |
(A) 2 Q’ 4
(C) 0. (D) 3

8 oy wHEy Ol & A%l BT AU 64 121 &, O 3P WG qmall B U 8-

If the ratio of areas of two similar triangles is 24 . l}}. then the ratio of their correspor;ding sides
is - _
BV I SR B 8:12

€ 12:14 D 11:8

9. cos(90°-A) = |
A) - cotA . Q],,. sin A
(© tanA M)  secA

ﬁ_':o] C : Page 3 of 16
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10\ afd p wen q @ P ey § @ ITH A Y, -

(A) 2 (B) 0
() 191 2 L@ 1

If p and q arc two prime numbers. then their HCF is -
Ay 2 (B) 0
| (C) Either 1 or 2 (D) |

11.°.35.5 9 el I 79 A Frow & -

A) 794 (B)~ 3.5 ¥

€  105%. D) A W

The radius of a circle with area 38.5 cm? is -

A)  Tem ®  35cm

(C-) 10.5cm (D) None of these
12.. €os1° cos2° cos3°........ cos90° =

(A) -0 : (B) 1

c - \ (D) | V2

13. MSaﬂ'\'m%aﬂ.aﬂ?ERﬁaﬁmﬁ%—

The ratio between the LCM and HCF of 5, 15 and 20is -

A 9:1 B) 4\3~

© 11:1 D) 42:1

Paga 4 of 16
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(C) (A 3R (B) Qi Jii7 mnm T4

A linc which interseets a circle al two distincl points is known as -

(A) Chord (B) Tangent

{Ci Both (A) and (B) (D) None of these
15, afe famﬁﬂﬁ!m bx?+ax +c=0 & Fo @A &, A —

If roots of the quadratic equation bx? + ax +¢.= 0 are equal, then -

WAy bP-dac=0

(C) c*-4ab=0 (Dy  a*-4bc=0

(B) at-dac=10)

16w B amod ol W9 B Hen e $ IAed &
The product of the smallest prime number and the smallest composite number 1 -

(A) 10 (B) 6

€ 3 By 4

17.  sin’04 cos’@ =

a | B 2
(©) 0 Dy -1
18, B 3 @ 2 o e A s T8 S W 87
Which of the fbllowing cannot be the probabilily at an event?
JA) 35 .(B) 02
© 03 (D) . 60%

[A10]C page 5 of 16



19, wwemw Ah . sq, S, 98,45, &1 (0d e 2

{A) 27 (B 0

& o (N g wYg A
The 10" termof AP 3 514845, ... 18-

(A) »= (B) 30

(C) <% (D) None of these

e f

20. 3ft S Bog@ ABC @71 PQR W ZA = £P. £B = £Q. £C = ZR. 7 -

i S

If in two tniangles ABC and PQR. ZA = £P, ZB = £Q, £C = ZR. then -

(A)  APQR ~ACAB (B)  APQR ~ABCA

(C)  ACBA ~ APQR M) AABC-APQR
2. fag (2v3,~V2) v O fem 2

(A) TR U @}{ g g

(C) [ U : D) =g oy

In which quadrant does the point (23, —V2) lie?

(A) 1" quadrant (B) 2" quadrant

(C)  3°quadrant D) 4% quadrant
22, Af THERO kx- Sy =2 T 6x +2y=T7 D B & 7 &, A —

If the equations kx - 5y =2 and 6x + 2y = 7 have no solutions, then-

P | k=-10 B) k=5

€ k=6 ©)  k=-I5
23. f% ScosB=3, I 3tand FT W EITI-

If ScosB=3, then the value of 3tan® will be -

(A) 3 | ® 5

©r 4 o 7
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24, a‘rfxf-1=1‘izr‘=’rl‘%m:na.ﬁzb'réﬂi’t“ﬁﬁ2=3’g

| L ' i i035: n their volumes
:Td" f two cylinders are in the ratio 2 : 3 and their heights are in the ratio 5:3.the
adiio - )

are in the ratio - 20:27
@A) 21:20 1 }% s

(C) 4:9 o . ‘ ’

25 ﬁmﬁﬂmﬂlﬂiﬁ?ﬂi%mfﬁﬁqﬁﬁé!mafﬁﬂ:;ﬁ g 2
- f B) OX &

(B R

(€ o E - @ T A BE e

If the graph of two linear equatlons in two yariables is intersecting lines, then the number of solutions
is - )

(A) Only one (B) No solution )

(C)  Infinite solutions - (D) . Noneofthese

’Hﬁsme cosf, ﬁ‘fﬂmfﬁmg')

If smﬂ cose lhen Bis equal to-

W 457 T (B} 30°
€, = @ 60

. s 1 From qen S F ¢ oiRh & A SEw S -

The radius and height of a cone are r and h respectively, then its volume is -

(A) E‘!‘l’rzh (B) %'ﬂ'rzh
- (D) nréh

© -S-nrzh
28,5 % +3,X +6,%+9 T x + 12 P WA NG -

The arithmetic mean of &, X + 3, x +6,x+9 and x + 12 is -
A x#6 , B)  x+5

© x+7 ' - (D) X+8
29. 03Ik 50 3. dra faww el @ e @ -

" The number of odd numbers between 0 and 50 is -
Ay 26 . \(By 25
) 27 (D) 24

(1o c o —



M. g vy gre g & wm B e e v # vJ g7 8

It the Jengpth od ihe whadoa o 2 coying A fawe 1oy { frepes IR

oy shn ol the b s

TV L (m L

o T & ﬂ;{ oy
VM., wfle p o o M1 & RRA Y B My T NA #

11 the mean of 6.8, 9, « and F3e 10, then the valoe of tis

(A 12 (M R

O 14 (D) 15
2. 13 e E ABC # (@ et 2a & @t g8 darg @ -

One of the side of an equilateral triangle is 24. then its height s -

\
(A) 3a M ﬁa
(€ - v3a? o Bq

2

LS

l&f,.gm&rzﬁgﬂﬁ??uﬁﬂﬂm?,gﬂfaﬁioﬁlﬁﬁ'ﬂ?wmglm

R Gl 8
A man goes 24 m Wesl, again he goe

point? https:/ /'www.bihartopper.com

(A) 3\4ni @) 17m
) 2%m D) 28m

M. 24.15,22,13,9, 100 30 BT GRER BT

Range of 24, 15,22, 13,9, 10 and 30 will be-

o P 1.“‘111 o e I'I‘I"'

dr pd ® ae w g

ihen the afdgle of

o ahe g @

s 10 m North. Now at what distance is the man from his imal

@A) 2 B 24
© 9 l
) \_L[’” 2
'0)C Page 8 of 16
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v oty % § -~ - o - Al 7
One cand is drawn 2 random from a wel] <huffled deck of pla;

. ¥ &
resrr AN ICR WS -

':\l----;-

L3

2
A | s

(B)

(D

(B

(© . -
secd (D) iif
sing
37. sinis®
cos72®
{A) 0 (B) 1
{C) -1 (Dl x
B 67 T TC TS A Y2 S5 o 9 & o= 811G v ue

-
- -]
- e

How many cubes can be formed of side 2 cm from 2 cube of side 6 cm?

(A) 36

(C) 28

Y SFERia R FTA TR TTARE 28 Ta.F 7=

LCM of two numbers a and 18 is 36 and HCF is 2. then the value if 2" i
(B)
(D)

(A) 2

o 4

(B)

w7

th

7

-

LF ]

M-

iy

[1jc
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40,

a1,

43

- I ~ . A v
b 1 i+ | a4 g ry 1 v

Rl A4 1 Ry

The contdmates of the mud pownt of the Tt segment joIRIRg the peun Wiaditi
(A} b ) L

U-;"‘ (3, -3 i 20
' g (-5, 11_:«{‘.: BRIE R Rl

hm:mc-:- hetween the pomts (-5, 7) and (-1.3) i

A W2 ® 32

4O T ) 52

[
o W S | 0 s P Y \ ) sty e .
s 3 3 Rew R agee @ gt @ A -3 A R 2

In the following quadratic polynomial whose sum of zeros is -3 and product 13 27

(B) W a2x-3
(D) -3z 42

(A)-— X7+ 342
L._.

(€ '-3x-2
e A Eie Ry ad g

Which of the following is not irrational?

(A) \‘T(')— fB) v’ﬁ'
(C) 35 D 121

Wtan9=§ﬁ.ﬁsin8 FHAE -

45/%%?%@13@.?%@%?1#%@@@@3@?ll-:w.‘é,\

If tanf = % , then the value of sinf is -
2 (B)

z
AL
-

(A)

W | m"l..h

(€)

[ - *
———— - —— e
"l ST

# faear -

The length of a tangent from a point P at a distance 13cm from the centre of a circle is 12 cm. then

the radius of the circle is-

(A) 6cm B 12 cm

(C) 9cm (D) 5cm

10] C ‘Paga 100f 16



Bl @ g e PR @ g Wl PA T PR il 0 ) ufr pA =4 AW T PR A
PO s W LIl ] "

46, ‘
I
A) 16 & ) 12 g
© s Dy 4
PA and PB arc two tangents drawn from an external point P 1o a circle, If PA = 4 ¢m then the length
of PB i~ -
Ay 16em (B) 12 ¢m
(Cy  Sem M  4em
4\7 g p6. YA 7 Rgde-
(A) 8 TIE W 27 g
() 6% ®» o T
Distance of the point P(-6, 8) from the origin is - i
{A) S units (B) 57 units
(Cy  Gunits D) 10 units

48. (an’60° I A B —

Value of tan“60° is-

@ 1 B 3

© % _, ®
19. & == ED Y § BT 6 2
. For an event E, which of théif'ollowing 1§ correct?
(A) PE)>] ' B) PE)<0
©) T‘{El =i | D PE)=-l

0. afx A B,'C f&d Bt & EIT‘F’T g, a sin (%) R '%—

If A, B. C are angles o7 a triangle, then sin (%) is equal to -

. A - . ok
_(A) . tang | B)  sin;
e &

[110]C - Page 11 of 16



@vg —9/ SECTION - B
iR—axgfis §¥/ Non - Objective Type Questions

oY 9oy yd/Short Answer Type Questions
g7 qEar 1 #zsayaama*;ﬁﬁ?rsma?aﬁ?éfm#ﬁvzwmﬁa

g . ' - (15xe=ag)
Question No. I to. 25 are short answer type... Answer any 15 question. Each 9'”‘-'““’” carries
2 marks. | (15x2=30)
> AT W dwma i
Convert 2.47 in the form of E.
2.’;fwﬁmﬁ$m2x+y—sm3x+2§¥8'$‘raagvﬁﬁlﬁﬁsaﬁ!- - 12),
Solve the system of equations 2x + y = 5 and 3x + 2y = 8 by cross-multiplication method.
3. AR v S AR R sat 93 15 7o AR AR amod vt @ 4 34 R &
Dctcnmne the AP whose 5" term is'15 and.the sum of its 3" and 8" terms w34
& o 3 B wd R TR k% 3x -00 = Oa?r'a’aﬁmﬁl 5 (2
Using quadratic formula find the solutions of the equation x*- 3x -10=0..
5 RewifFs-V3 weaRimwen gl 2/
Prove that 5 — v3- is an irrational number.
6. xmwwﬁgﬁmﬁmﬁgaﬁas)ammﬁmw%l 59/)’

Find a point on x-axis which is equidistant from the points (7, 6) and (- 3 4),
7. qasfagmABcﬁmrraﬁwcmm% q%ammﬂcmﬂ?cau#mﬁ:gnsﬂm uf—-
Rer 2 g o4 s =
, AE?+ BD?= AB?+ DE?
Ina MBC whose £C is right angled, two pomls D and E are on sides CA and CB respectively.
Prove that -

AE?*+ BD?= AB?+ DE?
P .
i‘-’/zrf%tanh%,a’r L2008 o1 4 T AR @,

3sin6 - 2cosP

If tan8 = ;- , then find the value of

3sin® + 2cosh
. 35in@ - 2cosh

‘10] C Page 12 of 16




9475 T gt vie o) Grd 26 A, iR artire Y o 21 Rel. R, A S s A T (2)
BN .
Caleulate the volume of a right circular con¢ whose height is 28cm and radius of the base is

2lem,

o LN | @; w wefla oY afe fag (x, }’).(.1. 2) TAT (7, 0) WYt € _(?—,

Establish a relation between x and y if the I“Ji”!“ (X, ), (1,2) and (7, 0) are collinear.

}Jﬁjj el 1, . 145 do ST . 9. 2175 BV AR 0B W 725 2, o3 e 7@ 4D
N | _
The HCF of two numbers is-145 and their LCM is 2175. If one number 18 725, then find the'

other number.

-

N

h/"l‘.ﬁ&ﬁmﬁmﬁwd'xz'dﬁ-klEﬁwﬁ'c'ﬁ%—[-gwm?ﬁﬁ' , (2

If a, B are thv.;: iprqﬁ:,__gf the quadratic polynomial 4x2|-_ r4x__-|- 1‘,. then find the value of % + E .

“13. fo ABCH ywail AB @ AC R @ R D ok E #: 5% wow ¥ 5 DEIBC. af r{)
. AD=x.DB=x-2, AE=x+2TJ EC=x-1,  x & AF f¥arei | -
In AABC, D and E ate points on the sides AB and A€ respectively such that DEIBC. If
AD =x, DB:x-Z,AE=x+2andEC=x- 1, then find the value of x.
4 R - | ?)
L

Prove that -

1]

secO +tan 0 _ (14-51!19)2

sec—tanB - \i cosB
15. e Brg @ 2 A (3,-5) 3R (7, 4) €1 IR T P B AW (2,-1) 8 A AW (2)
A & Pams smatl - .

Two vértices of a triangfe’ are (3, -5) and (-7, 4). If its centroid is (2, -1);then find its third vertex.

Jé/ﬁf%ﬁmwwﬁﬁwwmmsmmmzswqﬁfﬁﬁﬁl 2)

Using Buclid’s division algorithm, find the HCF of 570,and1425.

:%WWWWWM@M! (2)

Find the surface area of a sphere whose diameter is 14 cm.
_ L

\



ﬂﬂ" P ® ™ W W -
Evaluate the following -

Ssind W ¢ cosdqs” ¢ dtanise’

SEINAY pusn’ + tands’

19. AABC T wRATg fom & R AB = AC.FR{E @ 37 0% 78 w0 pon e T ¢ @)

f5 a8 @ AB F EW, BCH DR a1 AC ® F W ¥t vl & Rand s D=1 BC

ﬁimﬂﬁﬂﬁl

AABC is an isosceles triangle in which AB-AC A circle is drawn inside the manglc such that

it touches AB at E, BC at D and AC at F. Show that D is the mid-point of BC.
qaa?wgvﬂ‘laﬂﬂammﬁﬂﬁmqﬁﬁuﬂﬂjl

Find the arca of 2 quadrant of a cmclc if its circumference is 447cm.

G B UH IR B o 8, A A R FEA IS AR B Wi T w)
‘l\\n dice are thrown together, then find the pmbnblluy of getting same digit on both dice.

ﬂﬂwﬁiﬁammmmﬁ—

T IR

0-10

“10-20

20-3

3040

AREARAT

i

8

12

:

Find the mode of the following distribution -

Ck?ss interval

0-10

10-20 { 20-30

3040 |

Frequency

12

6

15

Wmﬂwaﬁﬁ-
ool [t g | 087 | 8-16 1624

24-‘32

3240

10

- 20¢

14

™|

Find the mean of the following distribution -

Class interval

0-8

816

16-24

24-32

32-40

40-48

Frr:qucncy

10 -

20

14

16

18

2

.,ﬂﬁﬂmmmmwmtmmm@wﬁi

product of two consecutive natural numbers is 20, then find the numbers.
£ 2 ol B 7% AN ToTEN A §| FA-H-F O S A A AREA T
Two coins aredossed together. Find the probability of getting at least one head.

-

2)

)

2)

Ry

2)

- @)

~Phge 14 of 16
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A Twrdu vEE /Long Answer Type Questlons
m!rm:ﬁa‘vﬁwmdﬁwwﬂwﬁwn

AR A RN g O o

e & e (4xs=0)
Question Nas. 26 po 11 arv fong Answer Thpe Questions, Each question carries § marks, Answer any 4
(Ix5=20)

questions.
%, FHET gm e dy= 1T 3% -y =6 T W N N & W (8-
+3vy=17and 3x-y=0 and solve them.

Draw the graph of pair of equmnns X
- 28 wew & O IR O TR F @ A Q) gr it ge ) g A ()

aoila L& &_ =L

;%«,j%mﬁa?ﬁ‘ma%wammso%msn%imnﬁ

?#@eﬁaﬁ’f%ﬁﬁaﬂ@mﬁm G |
Two poles of oqual hRights are standing opposite to each other on cither side of the road, which

es of elevation of the top of the

L S

- 80m wide. From 2 po t between them on the road the angl
poles are 60° and 30° respectively. Find the height of the poles and the distance of the pmn!

from the pole.
8. ﬁﬂﬁaﬁﬂﬁﬁﬁgﬁﬂﬁﬁWWﬁmﬁw&‘@fl “('5‘)"

Prove that the length of tangents drawn from an external pol
T T8 Fdl § | AR T A 5 fd, /e afE (5

int to a circle are equal.

éﬁmﬁﬁﬁﬁﬁﬁﬁmﬁ?ﬁaﬁ
gﬁ-?'nﬁzgmmﬁmamwé?ﬂim@aﬂmﬁmﬂl

A rain travels 360km at a uniform speed. If the speed had been 5 km/h more, it would have

aken | hour less for the same journey. Find the speed of the train.

[110c Page 15 of 16



0. Wigg a [
Prove that
(SINA + cOseeA) 4 (CosA 4 secA) =T+ l:ur’;\ + cot’A
A5 G0 e by ga ) g ol end) o offr pQ 21 P afie Q e vyt yaard W 0%
s 7w uRadg el &1 e ) dag s a |
PQ s Lillﬂl'll of length § cm of a cir'cI‘c of radius 5 cm. The tangents P and Q intersectat a
point T. Find the length of TP.

32, 6 Mew A ok 1.5 Wex Twh UE TER H GET 10 fad), /wrer @ e W a5 781 81 30 fAe
3 7w 9w fad Aawa @ Riad @ ool wafs R @ frg s Wb ey aFll @
arwar g €| |
Water is flowing with a speed of 10 km/hour in a canal 6 m wide and 1.5 m‘.dccp. How much

arci wilf it irrigalc‘in 30 minutes, if 8 cm of standing water is nceded for irrigation?

33. 3 ﬁammwgﬁmﬁaﬂmﬁm%m?lmﬁmﬁgﬁﬁ@ﬁﬁ
@ AN AR 4 ﬁﬁﬂ?@ﬁwmmwﬁﬂwwﬂmwmmﬁﬂ
Tl ST &1 39 At @ SaE 9 AN |

m is dug 14 m deep. The earth taken oﬁt of it has beén spread evenly all

" A well of diameter 3

around it in the shape of a circular ring of width 4 m to from an embankment. Find the height

of the embankment.

-
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